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19 8km 13km
21km 20x
10*t 14km 6x 1000MW
4x 1000MW 2x
1000MW
132m’/s 66m’/s
198 m*/s
2
1
2
4
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Lr=400 Zr=80
8km 12km 6km

2005-7-15 11:00 2005-7-16 12:00
2005-7-21 15:00 2005-7-22 16:00

e=5
2km
2005

3 50cm/s

73.3cm/s 63.6cm/s 49.0cm/s

S2 01 K1 M4 MS4

60m
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7
2005-7-18 13:00 2005-7-19 14:00

V6 V7
M2
680m -8.0m
-8.0m
6 3.5mx 3.5m



7.2

8.2

0.9

7.0m

1.0
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-7.5m
-4.0m

1.1

680m

500m

6 3.8mx 3.8m

-8.0m
60m -4 .0m
7.0m
60m -4.0m
6x 1000MW



0.7 0.8 0.9 0.1 0.2

1 6x 1000MW
>3 1.8 km* 0.5 75 km’ ,

> 3 2.0 3.0
km*> 0.5 73 km’ 2% 1000MW >3 0.1km’ 0.5 15
20 km?
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